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BACHELOR OF SCIENCE
Term-End Examination
December, 2012
LIFE SCIENCE
LSE-05 : PHYSIOLOGY

Time : 1 hours Maximum Marks : 25

Note : Use separate answer sheets for Part-I and Part-II. Be
brief and precise in your answers. Draw neat and labelled
diagrams, wherever necessary.

PART-I
ANIMAL PHYSIOLOGY
Note : Question No. 1 is compulsory. Attempi any
four questions from question Nos. 2 to 7. 12x3=1Y»
1. (a) Give the substitute term/word for each of

the following :

(i) Pacemaker

(i) Naturaily occurring anticoagulant in
the human body

(il)) Vitamin By,.

(b) Match the terms in Column I with those in
Column II : Vax4=2
Column I Column II
(1) Renin (a) Hypothalamus

(i) Testosterone (b) HCL

(ili) Stomach (c) Leydig cells

(iv) Releasing (d) Juxtaglomerular
factors cells
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2 (@)
(b)
3 (@)
(b)
4. ()
(b)
(c)
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Fill in the blanks : 15x3=1%2

(i)  In mammals one of the well known
sites of non shivering thermogenesis
is the tissue.

(i) The immediate source of energy for
muscle contraction in invertebrates is

(iii) The volume of air inhaled in one
breath is called

Define stroke volume.

Draw a normal oxygen dissociation curve.
Explain Bohr effect and its physiological
significance in the respiratory exchange of
oxygen and carbon dioxide.

Draw a labelled diagram of a mammalian
intestinal villus.

Explain how the structure of a villus is
designed to carry out the function of
absorption of nutrients, following the
complete hydrolysis of carbohydrates,
proteins and lipids.

Draw a neat well labelled diagram of a
mammalian ovary.

What is the fate of a Graafian follicle
following ovulation ?

Describe the endocrine interactions during
the menstrual cycle.
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(b)

6. (a)
(b)

LSE-05

Highlight the key points in the ‘sliding -
filament model” of muscle contraction.
Describe the role of regulator proteins and
Ca™ in the shortening of skeletal muscle.

What is saltatory nerve conduction ?
Draw a labelled sketch of a synaptic knob
(boutons).

Describe the events associated with chemical
synaptic transmission.

Describe adaptations that the enable a
kangroo rat to survive in the desert.

Write the source and one functions of any
two of the following :

(i)  Insulin

(i) Secretin

(iii) Calcitonin
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(b) Rt ¥ fau 70 vedl &1 shiem 11 H feg

yieg] & | fReme 1ox4=2
Hiem 1 e 11
(i) (@) TERISHY

(il) TR (b) HCL
(iii) 3 (c) ehfen :fvET
(iv) dem s (D) TeEerdmEer

ERCTLil
(c) oo vl it yfd ifore - 12x3=12
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7. (@)
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BACHELOR OF SCIENCE

Term-End Examination
December, 2012

LIFE SCIENCE
LSE-05 : PHYSIOLOGY

Time : 1 hours Maximum Marks : 25
Note : Q. no 1 is compulsory. Attempt any four questions
from Q. no 2 to 6.
PART-II

PLANT PHYSIOLOGY
1. (a) Complete the following statements by
choosing the correct alternatives from words
given within brackets. Vax2=1
()  Convention by the water potential of
pure water is considered to be
(~1/0/1)
(i) The continuum of protoplasts inter-
connected through plasmodesmata in
a plant tissue is called (apoplasm/

symplasm/symport).
(b)  Fill in the blanks : 1x2=2
i In the scheme,

NO; = NO; > X—>Aminoacid,
X stands for .

(i)  The deficiency of and Mg
are more or less similar as both are
characterized by a failure of
chlorophyll production.
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(¢) Give one word for each of the following
statements. 1x2=2
(i)  To detect a substance in terms of its
biological activity making use of some
living organism.
(i) Cold treatment given to seeds or
young plants for flower induction.

State Arnon and Stout’s criteria of essentiality of
an element to plants. Also, give functions of
magnesium and molybdenum in plants. 3+2=5

Draw a scheme of electron transport from H,O
to NADP ™ in the light reaction of photosynthesis.
Name the products and their role in
photosynthesis. 3+2=5

Describe the mechanism of biological nitrogen - 4+1
fixation. Why is nitrogenase considered an
expensive enzyme ?

Write short notes on any two : 2Y2x2=5
(a) Discovery of phytochrome

(b) Florigen

(¢) Crassulacean Acid Metabolism

(a) Compare the physiological roles of auxins 3
and gibberellins.

(b) What is the role of abscisic acid in seed 2
dormancy and water stress in plants ?
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